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=5y == = e L] T e = =l
KRIV/H 1-0/HM 1-0/KR) V4% AR/ H SRV KRV NZRJL/H TRV R/KRIL mr77>R/H
(GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX)
w58 |mAlesEs| = | 8 | 5 |8 | x| 8 | % | 8| x| 8| % |8 |x|8|%|8|x|=
6818 |k 1 -83 3 2 -43 2 -66 -60 3 -85 7 4 -31 -65 13 -25 1 -28 5
6H28|XK 3 -83 3 2 -43 2 -66 -60 5 -85 8 4 -30 -73 16 -25 1 -29 5
6A3H|& 1 -83 3 2 -43 2 -66 -60 5 -85 8 4 -30 -73 16 -25 1 -29 5
6848 |x 1 -83 3 2 -43 2 -66 -60 5 -85 8 4 -30 -73 16 -25 1 -29 5
6H5H|H
6H6H|A
6878 |X 1 -83 3 2 -43 2 -66 -60 5 -85 8 4 -30 -73 16 -25 1 -29 5
6H8H|XK 1 -83 3 2 -43 2 -66 -60 5 -85 8 4 -30 -73 16 -25 1 -29 5
6898 | K 3 -83 4 1 -43 2 -67 -60 8 -85 8 3 -28 -78 19 -25 0 -29 6
68108 |& 1 -83 4 1 -43 2 -67 -60 8 -85 8 3 -28 -78 19 -25 0 -29 6
68118 | 1 -83 4 1 -43 2 -67 -60 8 -85 8 3 -28 -78 19 -25 0 -29 6
6H12H|H
6H138|8
6H14H|X 1 -83 4 1 -43 2 -67 -60 8 -85 8 3 -28 -78 19 -25 0 -29 6
68158 |K 1 -83 4 1 -43 2 -67 -60 8 -85 8 3 -28 -78 19 -25 0 -29 6
6H16H|XK 3 -83 4 1 -43 2 -70 -60 9 -85 8 -20 0 -78 19 -25 0 -29 5
68178 |& 1 -83 4 1 -43 2 -70 -60 9 -85 8 -20 0 -78 19 -25 0 -29 5
68188 | 1 -83 4 1 -43 2 -70 -60 9 -85 8 -20 0 -78 19 -25 0 -29 5
6H19H|H
6H208|8
6H21H|X 1 -83 4 1 -43 2 -70 -60 9 -85 8 -20 0 -78 19 -25 0 -29 5
6H22H|K 1 -83 4 1 -43 2 -70 -60 9 -85 8 -20 0 -78 19 -25 0 -29 5
6H23H|XK 3 -86 6 0 -40 6 -99 -60 13 -95 8 1 -27 -87 19 0 -27 -30 7
68248 |& 1 -86 6 0 -40 6 -99 -60 13 -95 8 1 -27 -87 19 0 -27 -30 7
68258 | 1 -86 6 0 -40 6 -99 -60 13 -95 8 1 =27 -87 19 0 =27 -30 7
6H26H|H
6H278|8
6H28H|X 1 -86 6 0 -40 6 -99 -60 13 -95 8 1 -27 -87 19 0 -27 -30 7
6H29H |/K 1 -86 6 0 -40 6 -99 -60 13 -95 8 1 -27 -87 19 0 -27 -30 7
6H30H|XK 3 -88 6 1 -41 6| -103 -60 15 -94 9 1 -28 -81 20 0 -30 -29 5
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B =g = == M+iCe] == =] ] el ==s BT e
I1-0/%RIL NZ RV KRV HFHIRIL/H 1-0/3ARVR KRV HFIRIL ERYR/HERIL MLVavs /M HRL/NZRIL 214A/H
(GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX)
M58 A 55| = = 55 = 5 = 5 = 5 = 5 = = | B8 | = = 55 =
6H18|XK 1 13 -40 -21 2 -37 5 10 -64 -15 -20 -34 2 -62 19 0 -35 4
682H|AK 3 14 -46 -23 2 -43 5 10 -64 -16 -19 -34 2 -h8 27 2 -42 2
6A3H|& 1 14 -46 -23 2 -43 5 10 -64 -16 -19 -34 2 -h8 27 2 -42 2
6848 |x 1 14 -46 -23 2 -43 5 10 -64 -16 -19 -34 2 -58 27 2 -42 2
6858 (H
6868 (A
6878 |X 1 14 -46 -23 2 -43 5 10 -64 -16 -19 -34 2 -58 27 2 -42 2
6H8H|/K 1 14 -46 -23 2 -43 5 10 -64 -16 -19 -34 2 -58 27 2 -42 2
6H9H|AK 3 13 -49 =27 1 -45 5 10 -64 -12 -25 -30 1 -82 34 1 -38 4
6H108|& 1 13 -49 =27 1 -45 5 10 -64 -12 -25 -30 1 -82 34 1 -38 4
6H118|*= 1 13 -49 =27 1 -45 5 10 -64 -12 -25 -30 1 -82 34 1 -38 4
6H12H|H
6H13H|A
6H148|N 1 13 -49 -27 1 -45 5 10 -64 -12 -25 -30 1 -82 34 1 -38 4
68158 |k 1 13 -49 -27 1 -45 5 10 -64 -12 -25 -30 1 -82 34 1 -38 4
6H16H|A& 3 13 -58 -29 1 -50 5 10 -64 -6 -33 -24 0 -94 43 0 -34 4
6H178H|& 1 13 -58 -29 1 -50 5 10 -64 -6 -33 -24 0 -94 43 0 -34 4
6H18H|*= 1 13 -58 -29 1 -50 5 10 -64 -6 -33 -24 0 -94 43 0 -34 4
6H19H |8
68208 |A
6H218|XN 1 13 -58 -29 1 -50 5 10 -64 -6 -33 -24 0 -94 43 0 -34 4
68228 (K 1 13 -58 -29 1 -50 5 10 -64 -6 -33 -24 0 -94 43 0 -34 4
6H23H|A& 3 13 -72 -18 1 -60 5 10 -70 -24 -19 -18 -22 -65 24 0 -35 -26
68248 |& 1 13 -72 -18 1 -60 5 10 -70 -24 -19 -18 -22 -65 24 0 -35 -26
68258 |+ 1 13 -72 -18 1 -60 5 10 -70 -24 -19 -18 -22 -65 24 0 -35 -26
6H26H |8
6827H|A
6H28H|XN 1 13 -72 -18 1 -60 5 10 -70 -24 -19 -18 -22 -65 24 0 -35 -26
6H29H|/K 1 13 -72 -18 1 -60 5 10 -70 -24 -19 -18 -22 -65 24 0 -35 -26 -20
6H308|A& 3 13 -72 -17 0 -56 5 10 -76 -24 -18 -18 -19 -57 21 0 -34 -24
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KRV ZAA 1-0/NZR)L ZRYR/HFIRIL FRIL/Z(R 1-0/hF5RIL 1-0/Z4R =RYR/NZRIL HRYR/Z(R SRIL/BFFRIL
(GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX)
58 BE |(58%| & =1 5 =1 % = % = 5 = 5 = 5 = 5 g5 | x| B
6H18|XK 1 -59 8 9 -85 -26 -21 -38 7 1 -77 -19 -9 -13 -45 -80 11 -4 -27
682H|XK 3 -60 10 9 -90 -35 -23 -39 6 1 -78 =17 -11 -9 -48 -84 12 -5 -29
6H38 (& 1 -60 10 9 -90 -35 -23 -39 6 1 -78 =17 -11 -9 -48 -84 12 -5 -29
6848 |x 1 -60 10 9 -90 -35 -23 -39 6 1 -78 -17 -11 -9 -48 -84 12 -5 -29
6858 |8
6868 |8
6878 |X 1 -60 10 9 -90 -35 -23 -39 6 1 -78 -17 -11 -9 -48 -84 12 -5 -29
6H8H|K 1 -60 10 9 -90 -35 -23 -39 6 1 -78 -17 -11 -9 -48 -84 12 -5 -29
6H98|A& 3 -60 9 -102 -31 -23 -42 8 1 -80 -18 -9 -2 -61 -83 12 -8 -26
6H10H|& 1 -60 9 -102 -31 -23 -42 8 1 -80 -18 -9 -2 -61 -83 12 -8 -26
68118 |* 1 -60 9 -102 -31 -23 -42 8 1 -80 -18 -9 -2 -61 -83 12 -8 -26
68128|8
6H13H|8
68148 |X 1 -60 9 9 -102 -31 -23 -42 8 1 -80 -18 -9 -2 -61 -83 12 -8 -26
6H15H|/K 1 -60 9 9 -102 -31 -23 -42 8 1 -80 -18 -9 -2 -61 -83 12 -8 -26
68H16H|A& 3 -61 9 8 -109 -17 -31 -51 8 1 -95 -19 -9 0 -67 -86 12 -7 -25
6H17H|& 1 -61 9 8 -109 -17 -31 -51 8 1 -95 -19 -9 0 -67 -86 12 -7 -25
6H18H|* 1 -61 9 8 -109 -17 -31 -51 8 1 -95 -19 -9 0 -67 -86 12 -7 -25
6H19H |8
6H20H |8
68218 |X 1 -61 9 8 -109 -17 -31 -51 8 1 -95 -19 -9 0 -67 -86 12 -7 -25
68228 |/K 1 -61 9 8 -109 -17 -31 -51 8 1 -95 -19 -9 0 -67 -86 12 -7 -25
68238 |A& 3 -72 6 8 -104 -22 -25 -45 11 1 -90 -7 -35 -5 -58 -68 22 -6 -25
68H24H |& 1 -72 6 8 -104 -22 -25 -45 11 1 -90 -7 -35 -5 -58 -68 22 -6 -25
68258 |+ 1 -72 6 8 -104 -22 -25 -45 11 1 -90 -7 -35 -5 -58 -68 22 -6 -25
6H26H |8
6H27H|8
68288 |X 1 -72 6 8 -104 -22 -25 -45 11 1 -90 -7 -35 -5 -58 -68 22 -6 -25
6H29H|/K 1 -72 6 8 -104 -22 -25 -45 11 1 -90 -7 -35 -5 -58 -68 22 -6 -25
68308 |A& 3 -73 12 8 -111 -27 -20 -44 15 1 -98 2 -35 -9 -52 -76 27 -7 -24
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B = i £ = ] | E-Hef
+58 BE |58%| % = 5 =] 5 =
6A1H|K 1 -57 4 -26 -7 -17 1
6828 |AK 3 -63 5 -33 -4 -17 1
6H38|%& 1 -63 5 -33 -4 -17 1
6848 | 1 -63 5 -33 -4 -17 1
685H8|H
686H |8
6H78|X 1 -63 5 -33 -4 -17 1
6H8H|K 1 -63 5 -33 -4 -17 1
6H9H | &K 3 =12 4 -37 -3 -17 2
6H10H|& 1 -72 4 -37 -3 -17 2
6H11H|x 1 =72 4 -37 -3 -17 2
6A128|8
6H13H|A
68148 |X 1 -72 4 -37 -3 -17 2
6H15H|K 1 -72 4 -37 -3 -17 2
68H16H|A& 3 -75 3 -32 -4 -17 2
6H17H|& 1 -75 3 -32 -4 -17 2
6H18H|*x 1 -75 3 -32 -4 -17 2
6H19H|H
68208 |8
68218 |X 1 -75 3 -32 -4 -17 2
6H22H|K 1 -75 3 -32 -4 -17 2
68238 |A& 3 -62 14 -30 -4 -16 2
68248 |& 1 -62 14 -30 -4 -16 2
6H25H | 1 -62 14 -30 -4 -16 2
6H26H|H
68278H|A
68288 |X 1 -62 14 -30 -4 -16 2
6H29H|K 1 -62 14 -30 -4 -16 2
68308 |A& 3 -60 15 -30 -4 -18 2
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= F3 =0 ) = Be SEle] == e = =le)
KRV 1-0/M I1-0/KRV EVI 4 FRYR/H SRV KRV NZRJIL./H FRYR/KRIL mr75> kM
(=) (=) (%) (%) (%) (%) (=) (=) (=)
458 e ((f58%| T 8 55 8 7% 8 7% =1 7% =1 75 =1 75 g8 7% 8 75 =1
6H 18K 1| -842 30 19| -435 19| -669 | -614 30 | -866 71 41| -317| -665 133 | -255 10 | -284 51
6H2H|XK 3| -838 30 19 -431 19 -661 -606 50 -850 80 40 -303 -734 160 | -250 10| -294 51
6HA3H|& 1| -836 30 20 -434 20 -666 -612 51 -854 80 41 -306 -741 162 | -252 10| -296 51
6848 |x 1| -842 30 20| -436 20 -669 | -612 51| -854 80 41| -305| -741 162 | -252 10 [ -297 51
6H5H(H
6H6H|H
6R78| N 1| -849 30 20 | -439 20| -673 | -616 51| -864 81 41| -307 | -745 163 | -254 10 |-301 52
6H8H|K 1| -854 31 20| -442 20| -677 | -623 52| -873 82 41| -311| -749 164 | -257 10 | -304 52
6H9H K 3 -839 40 10 -434 20 -678 -603 80 -855 79 30 -281 -783 190 | -251 0 -295 61
6H108 |& 1| -840 40 10 -431 20 -672 -596 79 -853 79 30 -278 -776 189 | -250 0] -291 60
6A11H|x 1| -840 40 10| -427 20 -666 | -592 79 -841 78 29| -275| -773 188 | -247 0 -284 59
6H128|H
6H13H(H
6H148 | X 1] -840 40 10| -423 20| -659 [ -582 77 | -829 77 29 -271 [ -762 185 | -243 0 |-280 58
68 15H|K 1| -846 41 10| -426 20| -665| -582 77 | -825 76 29 -271 [ -762 185 | -242 0]-284 59
6H16H([K 3] -819 39 10| -425 20| -693 [ -604 90 | -852 80| -201 0| -779 189 | -249 0]-291 50
68178 |& 1| -809 38 10| -424 20| -692 [ -600 89 | -854 80| -199 0| -779 189 | -250 0]-283 49
6A18H|x 1| -825 39 10| -431 20 -702 | -603 90| -863 81| -200 0 -789 192 | -252 0 -289 50
6H19H|H
6H20H (A
6H218 | X 1] -827 39 10| -432 20| -704 [ -605 90 | -865 81| -201 0| -792 192 | -253 0 |-289 50
6H22H|K 1| -836 40 10| -438 20| -714 [ -614 91| -878 82| -204 0| -802 195 | -257 01]-295 51
6H23H([K 3| -857 59 0| -399 59| -989| -593 128 | -945 79 9| -267| -860 188 0| -267|-299 70
6H24H |& 1| -849 58 0| -393 58| -976| -585 127 | -937 78 9] -263| -851 186 0| -265|-295 69
6H25H |1 1| -851 58 0 -39 58 [ -980 | -591 128 | -939 78 9 -266| -858 187 0 -266] -299 70
6H26H|H
6H27H (B
6H28H | X 1] -852 58 0| -397 59| -985| -590 128 | -941 78 9| -265| -858 187 0| -266 | -298 70
6H29H |k 1| -856 59 0| -397 59| -984| -592 128 | -939 78 9] -266| -854 186 0| -265]-295 69
6H30H([K 3] -882 60 9| -408 58 [-1024 | -600 149 | -937 89 9] -279| -810 200 0] -298]-289 50




AT A > LA —

Bifir =g E==_om = M+lle] B =] ] e B=e| - Eare]
1-0/5%RIL NZ RV KRV HFIRIL/H 1-0/3ARIR KRV BFFRIL HRYR/HERIL NMV3US /M HRIL/NZRIL 212/ H
(124E) (=) (=) (=) (=) (124E) (=) (124E) (=)
58 A |H5a%| = = = | 8| % = 55 = 55 = = |8 =5 | 8| = = = | =
6H18|XK 1 131 -405 -215 20 -379 51 101 -648 -152 -202 -346 19 -617 189 0 -358 40 -314
6H28 (X 3 140 -460 -231 19 -434 50 100 -642 -161 -191 -340 19 -Hh87 273 20 -424 19 -322
6H38 (& 1 141 -463 -233 20 -436 51 101 -646 -161 -191 -341 20 -583 271 20 -428 19 -323
6848 |x 1 142 -466 -233 20 -438 51 101 -649 -162 -192 -341 20 -588 274 20 -428 19 -323
68588
6868 |A
6878 |X 1 142 -468 -235 20 -442 51 102 -653 -164 -194 -345 20 -588 274 20 -431 19 -323
6H8H K 1 143 -471 -236 20 -447 52 102 -657 -164 -195 -349 20 -585 273 20 -436 19 -325
6H98|A& 3 131 -496 =271 10 -454 50 101 -647 -121 -252 -301 8 -809 336 10 -382 40 -311
6H10H|®& 1 130 -492 -268 9 -450 50 100 -642 -121 -253 -301 8 -811 336 10 -378 40 -311
68118 |* 1 129 -488 -267 9 =447 49 99 -636 -121 -253 -296 8 -812 337 9 -375 39 -309
6H12H|H
6H13H|8
68148 |X 1 127 -483 -263 9 -443 49 98 -630 -121 -253 -292 8 -806 334 9 -369 39 -306
6H15H|/K 1 128 -487 -264 9 -444 49 99 -635 -122 -255 -291 8 -812 337 9 -369 39 -307
6H16H|A 3 129 -575 -289 9 -496 49 98 -633 -59 -325 -239 0 -931 426 0 -342 39 -308
6H17H|& 1 128 -573 -289 9 -488 48 98 -632 -58 -321 -240 0 -916 419 0 -340 40 -313
6H18H|* 1 130 -582 -293 9 -495 49 99 -642 -59 -328 -242 0 -933 427 0 -342 40 -319
6H19H |8
6H20H |8
68218 |X 1 131 -584 -294 9 -497 49 99 -643 -59 -328 -243 0 -934 427 0 -343 40 -320
68228 /K 1 132 -592 -298 10 -506 50 101 -652 -60 -332 -247 0 -945 432 0 -348 41 -324
6H23H|A 3 130 -720 -177 9 -596 49 99 -700 -238 -189 -179 |-219 -648 239 0 -346 | -259 -200
68H24H |& 1 128 -710 -175 9 -589 49 98 -690 -236 -188 -177 |-217 -641 237 0 -342 | -257 -198
68258 |+ 1 128 -713 =177 9 -595 49 98 -693 -237 -188 -178 | -217 -662 244 0 -345 -258 -199
6H26H |8
6H27H|8
68288 |X 1 129 -717 -177 9 -597 49 99 -697 -237 -188 -178 [-218 -675 249 0 -344 | -259 -200
68298 |/K 1 129 -716 -176 9 -600 50 99 -696 -238 -189 -178 [-217 -674 249 0 -345 | -260 -201
6H30H|A 3 128 -716 -170 0 -560 50 98 -756 -240 -180 -179 |-189 -571 210 0 -339 | -240 10
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B4y = =3 [ ] == vl [GEER | < [FY] [ [ T S=E wall 1+1
KFIL /24X T Nz | R B | BL AR | o0 578 | 10 42 | RAOE/NZOL | BAOR AR | B I ARL
(@) () ) () () () () () ()
F5H R |{f5H8%%| * = 5% = 5% = 5% = 55 =1 55 B 55 = 55 =1 55 =1

6818 |k 1| -so8| 81| 91| -se2| -264| -214| -389| 71 10| -781| -192]| -91| -131] -a58| -816| 112 -41| -276
6828 |4 3] 607 100 90| -903| 349 229 -394 60 10| -782| -171| -110| 89| -479| -s40| 119| 50| -292
6838 |& 1| 605] 100 91| -909| 351 -230| -398 60 10| -787| -172| -110| 90| -482| -sa4| 119| 51| -295
6848 |+ 1| 610 101 91| -913| 351 -230| -398 60 10| -791| -172| -111| 90| -482| -8a5| 119] 51| -295
6A58|8
6868|8
6A78| K 1| -615| 102| 92| -918| -355| -233| -400| 61 10| -795| -173| -111| -91] -487| -854| 121 -s51| -297
6A8H |k 1| -618] 102| 92| -924| -359| -235| -405| 61 10| -801| -175| -112| -92| -493| -863| 122 -s52| -300
6898 |k 3] 607 90 91| -1033| 311| 231 -422 80 10| 810| -181| -91| -19| -614| -835| 119| 80| -262
68108 (& 1| 607 90 90| -1025 | 311| 230 -417 79 10| 03| -180| <-90| 18| -613| -833| 119| 79| -258
68118 [+ 1[ -608 90 89| -1015| -306 | -227| -414 79 10| -796| -178| 89| -18| -604| -821| 118| -79| -257
6A128|8
681388
6A148| X 1| -608| 90| 88|-1005| -302 | -224| -407| 77 10| -788]| -176| -88| -18| -596| -809 | 116| -77]| -252
68158 /K 1| 612| 91| 89[-1013| -301| -223| -407| 77 10| -794| -178| -89| -18| -593| -806| 115| -77| -252
68168 | & 3] 602| 88| 78|-1079] -169| -310| -513| 80 10| 941]| -187| -88 0| 671| 862 119]| -70]| -251
68178 |& 1| 595| 87| 78]|-1077| -170] -310| -510| 79 10| -939]| -187| -88 0| -673| -864| 119| -70| -250
68188 [+ 1[ -607 89 79| -1003| -172| 313 -512 80 10| -953[ -190| -89 o| -680| -873| 120| -70| -251
68198 |8
68208 |8
68218 | X 1| -608| 89| 80|-1096| -172| -314| -514| 80 10| -956| -190| -89 0| -682| -875] 121| -70]| -252
68228 |k 1| 615| 90| 81 |-1112| -175]| -319| -521 81 10| -969| -193| -91 0| -691| -888]| 122| -71]| -255
68238 | & 3] -716| 59| 79|-1039| -219| -247| -445| 108 9| 900| -69| -350| -48| -576| -676]| 219| -58| -247
68248 | & 1| -710 58 | 78 |-1025| -217| -245| -439| 107 9| -888| -68| -345| -48| -571| 670 217 | -58]| -244
68258 [+ 1| 11 58 78| -1030| 217 -246| -443| 108 9| -892| 68| -347| -48| -573| -672| 217| 58| -246
682688
68278|8
68288 | X 1| 713 58| 79 |-1035| -218| -246| -443| 108 9| -896| -69| -348| -48| -573| -673| 218| -58| -246
68298 [k 1| 716 | 59| 79[-1034| -217| -246| -444| 108 9| -895| -69| -348| -48| -572| 672 | 217| -58]| -246
68308 | & 3] 732 | 120 78]|-1104| -268| -199| -439| 149 9| -976 19| -348| 89| -518| -759| 268 | -70| -240
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B =F D = Bl =0 =k L= = ] e
NZRJL/ZAR NZRIL/ BFF RV £=RY/H KRV H 1-0/M I1-0/KR)V RL/H FRVR/H SRV KRV
(%) (%) (%) (RRU—=224) (RRU—=224) (RRU—=224) (RRU—=224) (Rh-z> (RM=224)
58 |melssEx| % |8 | % | &8 | % |8 | % | 8| % |8 |%x|8|%x|8|=% |8 x| =8
6H18|K 1| -583 40| -266 -71 | -174 10 -84 3 2 -44 2 -67 -61 3 -871 7 4 -32
6H2H|XK 3] -634 50 -332 -40 -171 10 -84 3 2 -43 2 -66 -61 5 -85 8 4 -30
6HA3H|& 1| -640 50 -335 -40 -172 10 -84 3 2 -43 2 -67 -61 5 -85 8 4 -31
6R48 |t 1| -639 50| -335 -40 | -174 10 -84 3 2 -44 2 -67 -61 5 -85 8 4 =3
6H5H(H
6H6H|H
6H78| X 1| -643 51| -336 -40| -175 10 -85 3 2 -44 2 -67 -62 5 -86| 8 4 -31
6H8H|K 1| -647 51| -338 -40| -176 10 -85 3 2 -44 2 -68 -62 5 -871 8 4 -31
6H9H | K 3| -724 40 -371 -29 -172 20 -84 4 1 -43 2 -68 -60 8 -85 8 3 -28
6H10H (& 1| -717 39 -368 -29 -171 20 -84 4 1 -43 2 -67 -60 8 -85 8 3 -28
6H11H|% 1| -714 39| -366 -29 | -169 20 -84 4 1 -43 2 -67 =59 8 -841 8 3 -28
6H12H(H
6H13H(H
6H14H([X 1] -704 39| -361 -29 | -165 19 -84 4 1 -42 2 -66 -58 8 -83 [ 8 3 -27
68 15H|K 1| -704 39| -361 -29 | -165 19 -85 4 1 -43 2 -66 -58 8 -83 ] 8 3 -27
6H16H([K 3| -749 29 [ -319 40 -171 20 -82 4 1 -43 2 -69 -60 9 -85 8 -20 0
68178 |& 1| -748 29| -319 -40 | -167 20 -81 4 1 -42 2 -69 -60 9 -85] 8 -20 0
6A18H|x 1| -758 30| -323 -40 | -172 20 -83 4 1 -43 2 -70 -60 9 -86| 8 -20 0
6H19H[H
6H20H (A
6H21H|[X 1] -761 30| -324 40| -172 20 -83 4 1 -43 2 -70 -60 9 -87 1 8 -20 0
6H22H [7K 1| -770 30| -328 -41 | -176 21 -84 4 1 -44 2 -71 -61 9 -88 ] 8 -20 0
6H23H([K 3| -613 138 | -296 -39 | -160 20 -86 6 0 -40 6 -99 -59 13 95 8 1 -27
6H24H |& 1| -607 136 | -293 -39 | -159 20 -85 6 0 -39 6 -98 -59 13 -941 8 1 -26
6H25H |1 1| -611 137 | -295 -39 -160 20 -85 6 0 -40 6 -98 =59 13 941 8 1 -27
6H26H[H
6H27H|8
6H28H X 1] -611 137 | -295 -39 | -160 20 -85 6 0 -40 6 -99 -59 13 94 8 1 -27
6H29H |k 1| -608 137 | -294 -39 | -159 20 -86 6 0 -40 6 -98 -59 13 -941 8 1 -27
6H30H([K 3| -600 150 | -300 -40 | -181 20 -88 6 1 -41 6| -102 -60 15 9419 1 -28
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= N o] e =le] == =2= ivle] E=E =+l e
NZRIL/F FRVR/RRIL mrI>R /M I1-0/%RL NZRIL/ KRV HFIRIL/H I-0/5ROR | SRRV AFIRIL FRVR/FRIL
(RRU—=224) (RRU—=224) (RRU—=224) (RRU—=224) (RRU—=224) (RRU—=224) (RMU—==24) (RMU—=224) (RRU—=224)
58 e |f458%| & 8 b =1 b =1 b =1 b B 75 8 75 =1 b 8 b 8
6H18|K 1 -67 13 -25 1 -28 5 13 -40 -21 2 -38 5 10| -65 -15 -20 -35 2
6H2H|XK 3 -73 16 -25 1 -29 5 14 -46 -23 2 -43 5 10| -64 -16 -19 -34 2
6HA3H|& 1 -74 16 -25 1 -30 5 14 -46 -23 2 -44 5 10| -65 -16 -19 -34 2
6R48 |t 1 -74 16 =25 1 -30 5 14 -47 =23 2 -44 5 10| -65 -16 =18 -34 2
6H58|H
6H68 A
6H78| X 1 -74 16 -25 1 -30 5 14 -47 -23 2 -44 5 10| -65 -16 -19 -35 2
6H8H|K 1 -75 16 -26 1 -30 5 14 -47 -24 2 -45 5 10| -66 -16 -19 -35 2
6H9H | K 3 -78 19 -25 0 -29 6 13 -50 -27 1 -45 5 10| -65 -12 -25 -30 1
6H108 |& 1 -78 19 -25 0 -29 6 13 -49 -27 1 -45 5 10| -64 -12 -25 -30 1
6H11H|% 1 =17 19 =25 0 -28 6 13 -49 -27 1 -45 5 10| -64 -12 -25 -30 1
6H12H|H
6H13H (A
6H14H([X 1 -76 19 -24 0 -28 6 13 -48 -26 1 -44 5 10| -63 -12 -25 -29 1
6H15H [7K 1 -76 19 -24 0 -28 6 13 -49 -26 1 -44 5 10| -63 -12 -25 -29 1
6H16H([K 3 -78 19 -25 0 -29 5 13 -57 -29 1 -50 5 10| -63 -6 -33 -24 0
6H17H|[& 1 -78 19 -25 0 -28 5 13 -57 -29 1 -49 5 10| -63 -6 -32 -24 0
6A18H|x 1 =79 19 =25 0 -29 5 13 -58 -29 1 -49 5 10| -64 -6 -33 -24 0
6H19H |H
6H20H |8
6H21H|[X 1 -79 19 -25 0 -29 5 13 -58 -29 1 -50 5 10| -64 -6 -33 -24 0
6H22H [7K 1 -80 19 -26 0 -29 5 13 -59 -30 1 -51 5 10| -65 -6 -33 -25 0
6H23H([K 3 -86 19 0 -27 -30 7 13 -72 -18 1 -60 5 10| -70 -24 -19 -18 -22
6H24H (& 1 -85 19 0 -26 -30 7 13 -71 -18 1 -59 5 10| -69 -24 -19 -18 -22
6H25H |1 1 -86 19 0 -27 -30 7 13 -71 -18 1 =59 5 10| -69 -24 =18 -18 -22
6H26H |H
6H27H|8
6H28H X 1 -86 19 0 -27 -30 7 13 -72 -18 1 -60 5 10| -70 -24 -19 -18 -22
6H29H [7K 1 -85 19 0 -27 -30 7 13 -72 -18 1 -60 5 10| -70 -24 -19 -18 -22
6H30H([K 3 -81 20 0 -30 -29 5 13 -72 -17 0 -56 5 10| -76 -24 -18 -18 -19




2T A > LA~

BfI = =le ] e = =En FEl=3 ==1+1 B 2 R ;[ =] SN
~MLVals /M S RIL/NZRIL 242/ H KRV ZAR 1-0/NZRJL E=ARYRHFIRIL | T|RIL/ZAR | -0/ 8F59RIL I1-0/Z(A HARYR/NZRIL
(COUESZ)) (COUESZ)) (COUESZ)) (COUESZ)) (COUESZ)) (ZN=-=>7%) (ZN==>7%) (ZN=-=>7%) (ZN=-=>7%) (COUESZ))
M58 | mB gg = | s | =s|ls|=s|ls|=s|s|=s|s|s|s|=|2|s|8|%|3|=x|s=
6H1H|K 1 -62 19 0 -36 4 -31 -60 8 9 -86 -26 -21 -39 7 1| -78 -19 -9 -13 -46
682H|AK 3 -59 27 2 =42 2 -32 -61 10 9 -90 -35 -23 -39 6 1 -78 -17 -11 -9 -48
6A3H|& 1 -58 27 2 -43 2 -32 -61 10 9 -91 -35 -23 -40 6 1 -79 -17 -11 -9 -48
6848 |* 1 -59 27 2 -43 2 -32 -61 10 9 -91 -35 -23 -40 6 1 -79 -17 -11 -9 -48
6858 |8
6A6H| A
6878 |X 1 -59 27 2 -43 2 -32 -61 10 9 -92 -36 -23 -40 6 1] -80 -17 | -11 -9 -49
6H8H (/K 1 -59 27 2 -44 2 -32 -62 10 9 -92 -36 -24 -40 6 1] -80 -17 | -11 -9 -49
6H9H | 3 -81 34 1 -38 4 -31 -61 9 -103 -31 -23 -42 8 1 -81 -18 -9 -2 -61
68108 |& 1 -81 34 1 -38 4 -31 -61 9 -102 -31 -23 -42 8 1 -80 -18 -9 -2 -61
68118 |*x 1 -81 34 1 -37 4 -31 -61 9 -102 -31 -23 -41 8 1 -80 -18 -9 -2 -60
eA128|8
6H13H|8
6H148|N 1 -81 33 1 -37 4 -31 -61 9 91 -100 -30 -22 -41 8 1| -79 -18 -9 -2 -60
68158 |k 1 -81 34 1 -37 4 -31 -61 9 9] -101 -30 -22 -41 8 1] -79 -18 -9 -2 -59
6H16H|A& 3 -93 43 0 -34 4 -31 -60 9 81| -108 -17 -31 -51 8 1| -94 -19 -9 0 -67
6817H|& 1 -92 42 0 -34 4 -31 -59 9 81| -108 -17 -31 -51 8 1] -94 -19 -9 0 -67
6818H |1 1 -93 43 0 -34 4 -32 -61 9 8 -109 -17 -31 -51 8 1 -95 -19 -9 0 -68
6H19H|H
68208 |8
6H218|XN 1 -93 43 0 -34 -32 -61 9 81| -110 -17 -31 -51 8 1| -96 -19 -9 0 -68
68228 |k 1 -94 43 0 -35 4 -32 -62 9 8| -111 -17 -32 -52 8 1] -97 -19 -9 0 -69
6H23H|A& 3 -65 24 0 -35 -26 -20 -72 6 8| -104 -22 -25 -45 1 11 1| -90 -7 1 -35 -5 -58
68248 |& 1 -64 24 0 -34 -26 -20 -71 6 81| -103 -22 -24 -44 | 11 1] -89 -7 | -35 -5 -57
68258 |1+ 1 -66 24 0 -34 -26 -20 -71 6 8 -103 -22 -25 441 11 1 -89 -7 -35 -5 -57
6H26H|H
6H27HI|8
6H28H|X 1 -68 25 0 -34 -26 -20 -71 6 8| -104 -22 -25 -44 1 11 1| -90 -7 1 -35 -5 -57
68298 |7k 1 -67 25 0 -35 -26 -20 -72 6 81| -103 -22 -25 -44 | 11 1] -90 -7 | -35 -5 -57
6H308|A& 3 -57 21 0 -34 -24 1 -73 12 81| -110 -27 -20 -44 |1 15 1| -98 21| -35 -9 -52
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XA -RFL0ABEBRD, AN -V I-AF1HBEHDOEEETY,

Bt = g = 4| aal+1 1] i+ E-HLel
BAOR/ZMZ | REL/DIFL | NZWL/ZAX | NZNL/ hF3Rb ERY,/ [
(ZNY—=>79) (ZN—=>79) (ZN—=>79) (RRY—=>7%) (ZNY—=>79)
+5H 28 (t5H8%| T B 5t B 5% B 5t B 5t B

6818k 1 -82 11 -4 -28 -58 4 =27 -7 -17 1
6H28|K 3 -84 12 -b -29 -63 5 -33 -4 -17 1
6838 |& 1 -84 12 -b -30 -64 5 -33 -4 -17 1
684H|x 1 -84 12 =5 -30 -64 5 -33 -4 -17 1
6H5H|H

6H6H|A

6878 |X 1 -85 12 -b -30 -64 5 -34 -4 -17 1
6888 |k 1 -86 12 -b -30 -65 5 -34 -4 -18 1
6898 | K 3 -83 12 -8 -26 =72 4 -37 -3 -17 2
68108 |& 1 -83 12 -8 -26 =72 4 -37 -3 -17 2
68118 |L 1 -82 12 -8 -26 -71 4 -37 -3 -17 2
6A12H|H

6A138 |8

68148 | X 1 -81 12 -8 -25 -70 4 -36 -3 -16 2
68 15H|7K 1 -81 12 -8 -25 -70 4 -36 -3 -17 2
6H16H|AK 3 -86 12 -7 -25 -75 3 -32 -4 -17 2
68178 |& 1 -86 12 -7 -25 -75 3 -32 -4 -17 2
6818H|L 1 -87 12 =7 -25 -76 3 -32 -4 -17 2
6H19H|H

64208 |8

68218 | X 1 -88 12 -7 -25 -76 3 -32 -4 -17 2
6H22H|K 1 -89 12 -7 -26 -77 3 -33 -4 -18 2
6H23H|AK 3 -68 22 -6 -25 -61 14 -30 -4 -16 2
68248 |& 1 -67 22 -6 -24 -61 14 -29 -4 -16 2
68258 |% 1 -67 22 -6 -25 -61 14 -30 -4 -16 2
6H26H|H

6H278|8

6828H| N 1 -67 22 -6 -25 -61 14 -30 -4 -16 2
6829H |7k 1 -67 22 -6 -25 -61 14 -29 -4 -16 2
68308 | K 3 -76 27 -7 -24 -60 15 -30 -4 -18 2




